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HEH2AG A 6,501,136 6,499,917 1,219
2 103,322
< 6,397,814
MHAE (WSE HOF 22X =24 4,455,621 4,625,563 A 169,942
= 103,322
< 4,352,299
Bl 2 oZet &F 2,421,815 2,781,888 A 360,073
= 103,322
< 2,318,493
HEU Al &2 702,746 1,059,813 A 357,067
201 Let24E] 551,306 498,213 53,093
01 At 22l 21,600 17,600 4,000
O AMES 7 21,000
O A= DSl 600
-EIIQE BRI RNA 2D S
150,000 »2H 13| 300
— Ao 2L XA R W FH|
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02 2324l 529,706 480,613 49,093
Ozs&22= & HA 251,525
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-sdJ| HdSHEXN 2=
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—&IIANE A3 2,700,000 *123] 2,700
- SZINEIBA=== 150,000 *3CH*13] 450
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—&ojotd 2te| E 3l 150,000 »2H 13| 300
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60,000L*43] *14,170% /1,000L 3,401
-—S93 & 555& *4,500& *23| 4,995
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- 2FHMIAE KRR SHEH 2= 1,200
O =zl 43,394
—ga ues 2U44(E3R)
1,325& x12L*4 Al 2bx100L 6,360
-EEHE(ER) 1,3253 #4L+7 Al 2t+100L 3,710
—HIA&YEI(ER) 1,325& *800L»3Y 3,180
- ZRFIGISA HE FFH|
11,3253 x25L+7 Al 2k% 130 30,144
OA& & Hl =X bl 234,787
ak—2 s DNN=] 57,650
- 2LANEE RA 2,000
-HEgllga g2 22 M2 2,000
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- Xotls+ St =8 £ X 5,000
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-JIEtEX =& € KX 2,000
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—HA ZAAE A4 2 23 2,250
- 2HAE Hix=&d X 10,000
-ANEZ2 X2 20,400
—29 SEAE(ES)|,HE) =64 2 KX
ul] 14,000
-S4 2 MIIKXH| 31,370
-St&EA M8 Y R 5,267
~%0IE SUARS Fl el
1,500,000 x7& 10,500
-2 SUE4L AIE=S S 24,000
-XJI8 XNS0/¥aD| & B4 11,000
-0t X ¥ EX SX 22| 6,000
206 M EHl 71,440 40,600 30,840
01 =4l 71,440 40,600 30,840
OJH & EIIAlE XA HI 41,440
OLE 8424 =5 (LED) ¢
600,000 x50H 30,000
401 AlEHIZL 2 0HY| 80,000 521,000 A 441,000
01 Al&H| 80,000 517,964 N437,964
oY 5 dMI|2ds WHZ2A 60,000
Osa A8 A8 WIS A 20,000
A CCTV & X AFY 100,000 300,000 A 200,000
401 Al HI L 2 Tl 100,000 300, 000 200,000
01 Al&H| 98,000 297,856 A 199, 856
OF YU CCTV & X ALY 98,000
03 AlE 20| 2,000 2,144 N 144
OFZ M CCTV & XA 2,000
HEWEA B4 L FHAL I 165,000 0 165,000
401 A& HI L 2 0HHI 165,000 0 165,000
01 Al&H| 163,820 0 163,820
OFZMEL B L F=HAIAE A 163,820
03 AlE 21| 1,180 0 1,180
OXF2MEL B & FHAILE A 1,180
zZ el 1,151,083 1,158,935 A7,852
101 21214| 115,172 106,831 8,341
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04 JIAMIEXSE S 115,172 106,831 8,341
OBBMY 22| 012 48,2808 +10% 802 38,624
OS2 2ol 92 48,2808 «5% «722 17,381
ODIAFEZ 22| o192l 87,8058 +10% «202 17,561
OMEAAE oz 41,606
R-EINRIET] 48,2802l *58 »1502 36,210
-—gEyRaa 5,396

201 2Bt | 797,761 761,604 36,157

01 AR 22/t 19,600 15,000 4,600
OOIAIER 22l &Yl YX2 5,200
OXZy+222 ZH X2 4,400
o542 ol 10,000

02 BBl 778,161 746,604 31,567
OXY, A FH KX 21,781
OxZeole gel 9= 742,180
Odls Hzae 2= 3,200
OMMELR(E5R) BLAL 11,000

206 M 2t 134, 150 133,600 550

01 Wl 134, 150 133,600 550
O2HEH HAS I 7 18,250
OOAEZ |22 HH 7 5,000
OHlz s 7Y 30,000
OOrM3H 2 EZ4 PY 23,000
O 22 sx T4 (a2, 22 1Y) 10,000
OZAHH 25 2 U 7 20,000
OYZ MESE Y 3,000
OBZ® 1@ =288 Ui 7 24,900

401 A& HI L 2 bl 100,000 150,000 50,000

01 Al& HI 99,100 148,920 £49,820
OFYM IANE 22 99,100

03 Al& = Tl 900 1,080 A 180
ONYM HANE 2 900

405 X+t S| 4,000 6,900 A2,900

01 L S EHSH] 4,000 6,900 A2,900
OxZoel I 7Y 4,000
LR CPES 4,000,0002! * 1CH 4,000

01| At 37,772 37,023 749
2 18,886
= 18,886

401 Al HI 2 2 CH bl 37,772 37,023 749
2 18,886
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b
0x
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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
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01 A& HI 37,032 36,298 734
O=IHFIIA 37,032
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O= IR IIALY 740
= 370
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2 1,600
< 3,910

201 LB-2d| 5,510 5,191 319
= 1,600
< 3,910
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OLEBAL 228 F 2,000
= 800
< 1,200
Ou==X 2= M& 1,510

02 33224l 2,000 2,000 0
OAl & &l Xl 2,000
—MERAZAISH R A ES) 2,000
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< 1,200

D2 TEAS 150,948 116,670 34,278
2 75,708
< 75,240

401 Al & I 28I 150,948 116,670 34,278
= 75,708
< 75,240

01 A& Bl 147,542 115,830 31,712
O3 A 147,542
= 73,771
< 73,771

02 Zeltl 2,336 0 2,336
OZd& g Mg 2,336
= 1,402
S 934

03 Al 2 0HHI 1,070 840 230
O3 A 1,070
= 535
< 535

=ZNEXNEZA 2 14,256 0 14,256
= 7,128
< 7,128

~




M BEUALIAG S

M MAE SE HOoF 22X =4
©e FEll 2 e &5 (&)
= - _ L=
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
101 14 Hl 13,596 0 13,596
= 6.798
< 6,798
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01 At 22l 350 0 350
Ootd &z & A= 350
= 175
S 175
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101 1A bl 153,924 141,757 12,167
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oHsgllga(gad) U224 2Y 24,605
— Q24| 22,808
- HERE= 1,597
- I =dl 200
OSsotxdE & lxEaae s d2Y 129,319
— Q24| 117,784
-HERE= 10,035
— I =l 1,500
201 L2l 131,295 132,127 A 832
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SA B ER(EN) - AR - BES of & o4 San HIDZ2
el 2| 1,928,945 1,798,384 130,561
g =gl 1,928,945 1,798,384 130,561
101 124 4] 1,888,445 1,759,324 129,121
01 2= 1,177,196 1,072,433 104,763
OF-1=p\ 780,907
- 2B 780,907
= 4,570,900 18 »12& 54,851
- b5 4,115,300 =2 123 98,768
6= 3,005,600 x4H «12& 144,269
s 2,994, 100& x11H 128 395,222
= 2,438,800 x3E «12& 87,797
o¥dz2=+¢ 61,265
Ozl=z2=2=€ 124,081
-AN2ZAZRE 83,387
-5e2f=E 40,694
OdH+g 77,705
-ItE+g 17,160
BH < Xt 40,0003 x19H 128 9,120
A EH = 20,0003 32 128 7,680
tet=s 30,0003 x1H 12 360
EPE I RS = 5,568
nsstu 464,000& »3E x4 = J| 5,568
- 280t 3 23,880
25301 & 130,000 8 122 12,480
203 01 & 110,000& »3& x12& 3,960
15401 & 80,0003 x3H x 12 2,880
- 10201 & 60,000 x3H x12& 2,160
- 5401 & 50,0003 x4 123 2,400
-Ag=2f=¢ 2,160
= 50,0003 x2F 128 1,200
25 40,0003 »2H x12E 960
-Jlsd8e=+¢ 5,160
- 5500 50,0003 *1& 600
C 672 30,000& 12 4,320
- 8~98 20,0003 1 240
-JlsdE2=gtd3 2,760
- JIAH 30,0003 x7H ~12& 2,520
-2, AYE 20,0003 x1H 128 240
-esRA+E 6,335
-dd+=g 38,0003 x2H x12E 912
-2 RE 4,250,000 »9%*3L 122 13,770
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OHEFOHYI 780,907,000% /128 »23] *60% 78,091
OHI S 4| 22,387

-22H 780,907,000 «86%/12& /30«12 22,387
02 JIEt A 2+ 459,637
OLIHS=SA 51,552
— A2FE BT Y D1 A 41,004
et= 3,417,000« 1H =128 41,004
-2 5,071
ANzt 2+ 3,375
S22R+E 1,696
-JIEg 720
b < Xt 40,0003 x 18 128 480
A EHIS 20,0003 x 18 «12& 240
- Z U gAY 130,000 x1H x 123 1,560
— HOtE 4|
41,004,000% /122 x78%*86%/30 x 12 917
- Az Xl 140,000& 1H 128 1,680
—Hera syl 50,000 x1H 123 600
OHEEE 408,085
-Jl2= 247,199
dZE 2,503,650 x7H x12& 210,307
AE B S A 3,074,300& x1H+12& 36,892
-dz2=+¢ 18,540
A3 FE 2,503,650 *7H x45%*23] 15,773
MEES M 3,074,300 » 1 »45%*23| 2,767
- =22 64,946
N2 22 (HAZEF) 43,855
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Ot (HAZE) 18,577
-JtE+=d 5,640
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- AAEHS 20,000 x8H » 128 1,920
etz 30,0003 x 18 «12& 360
- NESHEESY 3,712
1ssu 464,000 x2H x4 3| 3,712
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253 0 & 130,000 x1H x12& 1,560
204 0| &f 110,000& 3 122 3,960
154 0] & 80,000& x1H 128 960
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- gAY 130,000 8 122 12,480
- GoL2 4l 7,087
FHEE
210,307,000 /12& *86%+*1/30% 12 6,029
MEES M
36,892,000 /122 *86%*1/30* 12 1,058
- Az Xl 105,000 8 128 10,080
- el estl 50,0003 x8H 128 4,800
- HEFIHI 24,721
A3 F 210,307,000% /12& x60%*23| 21,031
MEES M
36,892,000% /12& »60%*23| 3,690
03 RIAHAZZ2TE = 251,612
Otz & 234,492
-JlEs 48,9003 365 «6H 107,091
-&0=3 107,091,000& /12& »400% 35,697
- &¥JI125+Y 48,900 *40%* 10 « 122 6 H 14,084
—Al2tel g 9,169& x20 Al 2t 128 6 H 13,204
S PNESS = 48,9003 x 15 «6H 4,401
-522f+E 73,350 x50 x6H 22,005
- EZF0tdl 107,091,000% / 12& »60%*23| 10,710
-tEE 40,0003 x 123 «6H 2,880
= JFAIXI& ] 107,091,000 /128 *80%/2*23| 7,140
—u Sl 110,000& 128 x6H 7,920
- = &l 130,000& 123 «6H 9,360
OHERE3 17,120
-=2043 10,553
- IE2E 3,518
- &MHEE 3,049
204 X2 4 AH| 40,500
YEEEEST 40,500
Ogerx 40,500
—-4= 400,000& x 18 128 4,800
-b= 250,000 x2H x12& 6,000
- 6= 155,000 x4H 123 7,440
-7=2 140,000& x11H «12& 18,480
-8~92 105,000& 3 128 3,780
=24 116,570
Jl23Hl 116,570
201 L2 | 33,910
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OJle=+=&Hl 3,610
OJles gl 5,700
ozg=¢ 21,000
— =AY 21,000
2 X 50,000& 54 2,700
=35 50,0003 »366 L 18,300
02 8323l 3,600 3,600
0333 ¥ 3,600
-RER= 3,600
202 odl 19,000 19,000
01 = LH YI 19,000 19,000
OJ12nHl 19,000
203 PR =&l 10,060 10,060
01 J22F PR =8| 3,300 3,300
(OEFS; 3,300
02 It = AH| 760 760
O A& FH| 40,000& x19H 760
04 EN2I LRI 6,000 6,000
o=zgu 250,000& »12& 3,000
OAl& 1t 250,000& 128 3,000
204 X2 FH| 7,200 7,200
01 MBS HPH A 7,200 7,200
Ox% 400,000& x 18 128 4,800
OL=; 100,000 »2H «12& 2,400
405 THobH S| 46,400 5,900
01 et EFH S 46,400 5,900
O=At2| 6,000,000 = 1CH 6,000
OAMRE Rt 400,000 » 14 400
O 88Xy 7Y 40,000
-&583x8 40,000,000 = 1CH 40,000




